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1. ROBEBIZOWT () NoE&ERIcE T sifoREZ2Rko k. (SHh4510%, A#k6sr, B9y, C#134)

(1)  2=3+2cost, y=2sint (ogtgg) (2) =23, y=312 (0<t<1)

(3) r=cos®t, y=sint (Oét
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2.

(1)

(3)

ROBAENZOWT () NOERBICEBT 20 RE I Zkd k. (S#k4340F, AT, Bik114y, C #1547 )

©=5—3cost, y=3sint+1 (0§t§%) (2) w=1—32, y:%\/%f’ (0<t<3)

x=t—sint, y=1—cost (0Lt<m)
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REFAN HH HBROEE 01 MRESES

1. ROBBU-OWT () NOERBICET 2HiftoRS 2Rk k. (SH453 108, Af65, BRI, C#%1345)
* BiROR S
b
Witz = f(t), y=9@) (a<t<b) = WMBROREIIZ /\/{f'(t)}2+{g'(t)}2dt
b
it y = f(x) (a<z<bh) = HROEZZ /\/1+{f’(m)}2dm
KHEE IOV THEZT 200, 220 THEST 2D00ITHR.
(1)  z=34+2cost, y=2sint (ogtgg) 2 z=23, y=32 (0<t<1)
de — _2sint, ?175 2cost G =617, %:&
Ys=t>+1EBVT, ds=2dt < tdt = 3ds
/3\/(—25int)2+(2cost)2dt t=07i=1os=1>s5=2
0
z 1
:2/ Ldt /\/(6t2)2+(6t)2dt
0 0
1
:g[t]o%:%ﬂ oz :6/t\/t2+1dt
0
2
WHNEBFRE 77 7 LR, FE20MTH S, :3/1 Vsds i
$oT, EEIRPEE 2, hLAIOMDOREETHY, —3-{35%}2
2x T =27 L7%. 3 1
i ETHT ghe 529 =
NFELLDHETHTESEIITLTEI) :2(\/53713):2(2\/5_1) EE
= 53 = 9] 3 g gi
(3) r=cos’t, y=sin"t (Oiti 4>
‘é—fz—Scos%sint, jt 3sin®tcost
/4 \/(—3 cos?tsint)? + (3sin®t cost)? dt
—3/ \/cos4tsm t + sin® ¢ cos? t dt
/ \/sm tcos? t(cos? t + sin? t) dt
=3 4\sintcost\alt
0
:3/4sintcostdt ¥
0
:3/4§sm2tdt:g/4sm2tdt
0 0
_3 [l T_3 Lms
=3 [2 ( cos2t)]0 =3 A
w0t TIEBWT, sintcost 20
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ROBIBUZHO VT () NOERBICEB I ZHEROESIZ RO L. (SH4340%, A7, Bki114y, C# 154 )
r=13-3t2, y:%\/%’) (0<t<3)

(1)  z=5—3cost, y=3sint+1 <O§t§%) (2)
%=3sint, %=3cost %:3t2—6t, %:%ﬂ'gt%:6\@t%
/Z\/(Ssint)2+(3cost)2dt Fs=t2+1LBWVT, d5:2tdt<:>tdt:%ds
o t=0—>t=1©s=1—>5=2
:3/41dt
0 3 5\ 2
/ (3t2—6t)2+<6ﬁt5) dt
0
3
= / V9tt — 3613 + 3612 + 723 dt
0

—3[¢)F :%w R
3
:3/ Vit 4483 + 42 dt
0

Sl fiE
3.1:§7T
4 4
3
=3/ V(t2+2t)2 dt
0
3
:3/\(t2+2t)2\dt
0
3
:3/ (t2+2t)dt <
0
3
=3[+ 2] =3{9+9) - (0-0)} =54 ~ER
0
FOZLt<3ITBWT, 242620
(3) ax=t—sint, y=1—-cost (0<t<T)
dz _ | _ dy _ &
a = cost , o =sint

/W\/(l —cost)? + (sint)? dt
0

:/ V2 —2costdt

0

:\/5/ V1 —costdt
0

:\/5/0 \/1—(1—25m2§)dt
:\/5\/5/ ‘sin%‘dt
0
:2/ sin%dt —v¢
0
=2[2-(—cos§)]g

]W =4 (cos%—cosO) =4

=—4 {cos§ .
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WOSt<mIZBWT, sing 20
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